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P442 7(48)

0=10"(7/4)D*L(p/0.1+1) (L(ANR))

0=10°(7/4)D*L(p/0.1+1) (L(ANR))

P442 7(49)

0=10"(w/4)(D*d*)L(p/0.1+1) (L(ANR))

0=10°(x/4) (D*-d*)L(p/0.1+1) (L(ANR))

P442 #,(50)

0,=10°(w/4)D,’L,(p/0.1) (L(ANR))

0,=10%x/4)D,’L,(p/0.1) (L(ANR))

P442 G155 30[#]

0=107(x/4)807x200(0.5/0.1+1)

0=10"(x/4)807x200(0.5/0.1+1)

=6.03 L(ANR) =6.03 L(ANR)
P442 FHEF] 30[f#] | 0=10"(m/4)(80>-25%)x200(0.5/0.1+1) 0=10"(z/4)(80%-25%)x200(0.5/0.1+1)
=5.44 L(ANR) =5.44 L(ANR)
P442 FHEHI 30[fi] | 0,=107(x/4)67x2000(0.5/0.1) 0,=10"(x/4)6°x2000(0.5/0.1)
=2.83 L(ANR) =0.283 L(ANR)

P442 G155 30[#]

0= 0.+ 0,=8.86 L(ANR)
0= 01+ 0,=8.27 L(ANR)
1 {518 Tl%, 8.86+8.27=17.1 L(ANR)
557 5 1E1€/min TIX, 17.1x5=88.5
L/min (ANR)

0= 0.+ 0,=6.31 L(ANR)
0= 01+ 0,=5.72 L(ANR)
1 {518 Tl%, 6.31+5.72=12.0 L(ANR)
fE5y 5 HEETIE, 12.0x5=60

L/min (ANR)

P445 FHHEK

B0 KFE V=(100/Ap) —t (¢/60) (L) (55)

By RE V= (0.10/Ap) —t (¢/60) (L) (55)

P445 [fif]

(55)7 L 0, V= (10x50/0.1) —3x(350/60) = 32.5 L

(55)=N&L D, ¥V = (0.1x50/0.1) -3%(350/60) =
325L

P466 7.1.5 (a)(1)
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